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N & Ol & At g M A
HE F=F 2 3 2B HENSAYER
AENSMLER
NAMNLAML(FELX LML /NAL A
ZOIHAIL M CREED
SA-EHB - BAEH) - NRAY - BES 0] &b 2 p/E-T 52
dNSAH =2 124,207,224 121,371,116 2,836,108
= 550,000 550,000 0
Xl 400,000 400,000 0
= 1,100,000 500,000 600,000
< 8,828,417 8,777,417 51,000
Al 3,328,807 111,143,699 , 185,108
KNANLAL(ZELXN DML /XNSLEZ Al 6,777,995 6,335,777 442,218
= 500,000 500,000 0
< 1,060,000 1,060,000 0
Al 5,217,995 4,775,777 442,218
FOUHAAL AL 6,732,361 6,290, 143 442,218
= 500,000 500,000 0
< 1,060,000 1,060,000 0
Al 5,172,361 4,730,143 442,218
A2 Fe=SJAY(XHA) 4,003,883 3,561,665 442,218
401 AIEHI L 201 3,999,347 3,557,129 442,218
01 A€ HI 3,985,000 3,545,000 440,000
Odg 23¢ M= Y2 LHSA
100,000,000& 1 100,000 0 100,000
O30/ E22 oSt X FIA
200,000,000& * 14! 200,000 0 200,000
OJIH sUW1~22 OtSetd IHLI|3 A
80,000,000& *1 80,000 0 80,000
O2d EHel ¢& ALZHISA
60,000,000& *1 60,000 0 60,000
03 Al S HHI 8,347 6,129 2,218
OL7L FU=JAAY AE20UHI
440,000,000& x0.72/100+70%<& &> 2,218 0 2,218
CRANER(=SLUE/E2) 44,703,608 43,411,718 ,291,890
Xl 400,000 400,000 0
£ 600,000 0 600,000
= 4,775,000 4,775,000 0
Al 38,928,608 38,236,718 691,890
CZANEERI 2L 7,137,051 6,547,051 590,000
Xl 400,000 400,000 0
=) 400,000 400,000 0
Al 6,337,051 5,747,051 590,000
E2xF RIES 4,275,944 3,685,944 590,000
401 Al HIZ 2018 1,432,754 842,754 590,000
01 A& HI 1,430,000 840,000 590,000
OstZhel F&AXE ZX3AM
500,000, 000& 1 500,000 0 500,000
O EA~E8x W 2SS EX3A
90,000,000& *1 90,000 0 90,000
SAIDIBEAE R =H 20,099,828 19,397,938 701,890
£ 600,000 0 600,000




2N
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AENSMLER

SADIEAIE R R

SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
=) 2,755,000 2,755,000 0
Al 16,744,828 16,642,938 101,890
SEANHEEZHE 9,024,763 8,924,763 100,000
401 A& HIZ 201 I 9,019,963 8,919,963 100,000
01 A& HI 9,010,000 8,910,000 100,000
OS&E~Z2E2A TAAEEZZ(AM1-81)AEHXR
2 & 200,000,000 14! 200,000 100,000 100,000
NAHHEZ2 A 3,711,520 3,109,630 601,890
= 600,000 0 600,000
Al 3,111,520 3,109,630 1,890
401 Al HI R 201 I 3,557,920 2,956,030 601,890
= 600,000 0 600,000
Al 2,957,920 2,956,030 1,890
01 A& HI 3,550,000 2,950,000 600,000
Osdl 882l (=5%302) W& HHS A
600,000,000 * 14! 600,000 0 600,000
= 600,000 0 600,000
03 AlZ 2 THHI 7,920 6,030 1,890
Osdl SHel(5E302) B HHSA AIER
CHyl 600,000,000& *0.63/100«50%<& 2> 1,890 0 1,890
Hsnssdld(+=3sLUE/HELE - EFSIIH) 54,418,203 54,316,203 102,000
= 550,000 550,000 0
< 1,532,381 1,481,381 51,000
Al 52,335,822 52,284,822 51,000
O - SIENSIUH2 A X 53,407,383 53,305,383 102,000
= 550,000 550,000 0
S 1,232,381 1,181,381 51,000
Al 51,625,002 51,574,002 51,000
AU 2 SHEHARSAY WEXRZ(EX) 1,645,738 1,543,738 102,000
£ 822,869 771,869 51,000
Al 822,869 771,869 51,000
307 glztol & 1,645,738 1,543,738 102,000
S 822,869 771,869 51,000
Al 822,869 771,869 51,000
09 2+AHEEXS 1,645,738 1,543,738 102,000
OAMU & sSHEHA2SAIY HEXA
2 & 1,645,738,000& 1,645,738 1,543,738 102,000
< 822,869 771,869 51,000
Al 822,869 771,869 51,000
Heags(RsSiEn)(=sLus/UHs1s - 28SIIE 5,300,000 4,300,000 1,000,000
WEAHH XS (LEX 1) 5,300,000 4,300,000 1,000,000
JIEtI AN E = 5,300,000 4,300,000 1,000,000
701 JIEtSI HEEHES 5,300,000 4,300,000 1,000,000
01 JIEtZIHEES 5,300,000 4,300,000 1,000,000
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HAHNE(LSX 2D (Ste: &)
Y- HAEA) - HFAY - BES Off ok 24 I E N Husz
OZANDEANLSLN BE3

Z& 5,300,000,0002 5,300,000 4,300,000 1,000,000




